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College Algebra Review:
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https://harryzaims.com/public_html/122/videos/chapter-01/1-5/1-5-notes.pdf
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The table shows the maximum daily high temperatures (in degrees Fahrenheit) in Las Vegas [ and International Falls I for month t, where t = 1 corresponding to January.t

Month, ¢ Las \:'_egas, International

Falls, T \
1 57.1 13.8
: 104
2 63.0 22.4 q"j"' [?/ '
3 69.5 34.9 /
] S'?- )
4 78.1 51.5 Low ( 4 2 voY ‘\
5 87.8 66.6 ( 7 *
6 98.9 74.2 9F_ 2
7 104.1 78.6 2 o o 1 =52)
8 101.8 - - N
9 93.8 64.7 =420
10 80.8 51.7 gy
~ny, 17
11 66.0 32.5 o8 (b (x—ﬁ) (.d =
12 57.3 18.1 =)
(a) A model for the temperature in Las Vegas is (l / Sq‘nl \>

L(6) = 80.60 + 23.50 cos(%t - 3.6?).

Find a trigonometric model for the temperatures in International Falls. (Round all numerical values to one decimal place.)
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L(f) = 80.60 + 23.50 cos(%t - 3.6?‘).
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